
Time: 10 Minutes Paper G-Science 6 Total Marks: 10

1st Month, 3rd Week, 1st Day Syllabus: Unit # 2: Introduction, Vocabulary,

Reproduction

Q.No.1 Encircle the correct answer from the following choices. (1<<<<6====6)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. Which of the following is a male reproductive part of flower?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚YYYYwwww»»»»3333,,,,ggggTTTTzzzzeeeeÍÍÍÍzzzzìììì????

(a) Carpel »g>Þ (b) Stamen
]4-.

è

H
GE (c) Ovary Zzzg~ (d) Stigma _5À)é H

Y

ii. How many types of reproduction are there? ggggTTTTzzzzeeeë̈̈̈ÅÅÅÅXXXXZZZZllllxxxx÷÷÷÷????

(a) 2 (b) 3 (c) 4 (d) 5

iii. Which of the following is a reproductive cell? ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ggggTTTTzzzzeeeeÍÍÍÍ−−−−ìììì????

(a) Sperm 4x (b) Egg Zr- (c) Ovum Zzzx (d)All of these tÓx

iv. Which of the following is a female reproductive part of flower?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚YYYYwwww»»»»ââââŠŠŠŠ{{{{ggggTTTTzzzzeeeeÍÍÍÍzzzzìììì????

(a) Carpel »g>Þ (b) Stigma _5À)é H
Y

(c) Style 6b (d) Sepal
]45

ÿ
GF

v. The transfer of pollen grains from anther of stamen to the stigma of

carpel is called: 7777ÞÞÞÞ¤¤¤¤////««««»»»»
]]]]4444----....
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JJJJ----vvvvƒƒƒƒ********BBBB@@@@****ìììì::::

(a) Sexual reproduction
_5½ið GgTzë (b) Pollination 7àV

(c) Grafting ¤/Z© (d) Fertilization �ÛË,̂c
vi. Female reproductive part produces: ââââŠŠŠŠ{{{{ggggTTTTzzzzeeeeÍÍÍÍzzzzaaaaZZZZ™™™™@@@@****ìììì::::

(a) Sperm 4x (b) Ovum Zzzx (c) Egg Zr- (d) Bothb&c ŠzâV c Zzg b

Q.No.2. Write short answers. (2<<<<2====4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i) What is reproduction? gTzëHì?

(ii) Define zygote. iZ"5½ð JG
Y

^Å°p™,X
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